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AP Calculus AB

Unit 5 — Day 3 — Assignment

Name: _ A SWRY !\}\Qg* |

For the functions in exercises 1 and 2, determine if the\lMean Value Theoremiholds true for

0 <c¢ <57 Give areason for your answer. If it does hold true, find the guaranteed value(s) of c.

[CALC]

Lo f(xy=-2+2x-3|

~2ly) is onfiauous on Lo,s3 Vv

~ My 1S not daffecend CL\Ol.-C,
oF X=2 since Ying %m;ph *ﬂa{
a tusp. = FL) ot dite. on (0,5)

s p0ean Vidde Theovern not applicaic

2. g(x)=—2x+ sin® x

— o0 Hging)”

~ ol S ot § o L0, 5 .w’\/
~ 9L 1§ dbfenhoalle o0y (0,5)
0'(x) = -+ ALSINY) (COSY)

QX ASOL (OSL = wét_ﬂég\)

Carasine cosc = 1O =(-9.0%0)

g

. : S b
3. Administrators at a hospital believe that the nun}ber of beds ;?1 useis given by
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B(r) = 20 sin (ﬁ)+ 50,

where ¢ is measured in days. [CALC]

a. Find the value of B'(7). Using correct units of measure, explain what this value means in

e context of the problem.
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b. For 12 <¢ <20, what is thegmaXimum numbenyof beds in use? S B0H) 1S canh v\uouéf
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4. For 1> 0, the temperature of a cup of coffee in degrees Fahrenheit ¢ minutes after it is poured

is modeled by the function F(¢) =68+93(0.91). Find the value oUsing correct units of
measure, explain what this value means in the context of the problem. [CALC] :
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For questions 5 — 8, use the table given below which represents values of a differentiable
function g on the interval 0 <x <6. Be sure to completely justify your reasoning when asked,
citing appropriate theorems, when necessary.

x | 0] 21 3] 4] 6
gy | 3| v | 5| 2 | 1

5. Estimate the value of g'(2.5).
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6. If one exists, on what{interval is there guaranteem be a value of ¢ such tha ""I_ . - T

Justify your reasoning.
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Justify your reasoning. L
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8. If one exists, on what interval is there guaranteed to be a value of ¢ such th N /T

Justify your reasoning.
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